PESSeSSTeme——

'\ == A
ﬁmE ¢ o KQl=4h = DP_

‘

m3-4iz g (A0 Fah= 'y

AL D S S (9T
‘a\.\m.\’, = , . (.ww ;ﬂ.j,ﬂ (.J . .
A*+M3-Lbz

: ‘ ne
13 N9~ 1h <
Wl 4 8z SIS SIS b b

gy SpS Syl Bm & Yol NmN%me
_rwwnm‘.uﬁo;m-."o:¥ BRSPS EE

€9 =

-
-

Y

-
-

-Aﬂl
"3

¥l
T 1S
i S B e S(u)+ b= SRR \.A.-MNW+ LY
M.-. ME=2- a § el e g A—nm_,v*.jn J‘ | HSU\
(¢- vﬁ.“:.va.nﬂla =+ ?.Su.v h- Y- -
.o / 4
'y H=-"R-"S-"2- (s 1197 «K hreTe's T (e
- ‘W9 pajedipul
33 BUIUWISIBP 01 3] SN UBYL ™7 40} BINWLIOJ B B3I "90uaNbas onawy3e ue s| 9uanbas yoe3 g

| CNFTTTMIRSBT oy mwwy
AﬂJa\v@- fpodeidpanc? W . o
- ?x. sy IV

‘we) |eJaussd ayl

N v <

2z JNtO.

01 31 e 1ied wod) 3
-
_ 2= N.« m W~ T =

| 3 »¢- 4\ =
A.Nluﬂ.nxq+0dutu\ B ~ Am:v CJSu*‘F., Ll
_[r. vi9g 0T (M ) BITYTLL (M
Ty Syl e T e )
Efe JN*“['\L. & S+ S =
J»C..Su... S =N MC:(&.«MI{
; - S e ‘.ﬁ.mucmscwm._urmfﬁ:m cummLEEEu_Emcwwwfmtts R/
OJ T: ‘ e hw ’ . \13.,.,13‘.
i Al k) 2 ) ~\v SM) :u
1Jvﬂ;i‘ A

fm f_ no~nT

DN.N AU

q.,?c..ﬂ. bl gy ey s ..

e

| | A R JJ. “h . J\\.ﬁ.u(é* /.v.. \w.

%2 (q

= WA Remyp
w
‘ Y ooyt
= . . e v . - -
.

WwJal yoea aujwaaiap ¢

*‘7°G ‘8 ‘IT @ouanbas o

Y (1-wy e 3T

i, e i :u,om.,
VZ m@ uanbas Jdllswiyllie mr_u LOm
/ (.. ¢ ¢ i P '
- 4-fn-'g-g . 4 <)~ ‘or-n,w.w-.T\J.\
£9 S 0 S b g e : 5 e 0l g o s - - P 2 .
: Wl ‘o + R TREST U “* g— =PI =g
e / N

S RPN o nlh— ﬁ«.& \\Ml w\l i MN .W— [} { .
febg g v IV GEPg—=8 (o ) - 5
: S Y T
A- 0 "h s 2 4
S T Ty==per=e (B 7 -

_ _r I \w m N
E=p‘z=e (e
'20UaNnbas d138WY1Ie Yoes JO SWUD) 9AL ISl BY1 1M T

.HcmEcm,_mm,q 2ouanbas anawyILY




- 6. A pile of bricks is arranged in rows. The number of bricks in each row forms the arithmetic
sequence 65, 59, 53, ... vf el %
a) One row contains 17 bricks. Which row is this?

t = atlu-) A F= 3 -Gy .
= | “H -~ i | . ek —
—.Mr Tﬂl&. hSI—J A Pv ”Wg\ n...’mo\/ JJ _ o\o &f? o
M\V..TI' maﬂ Yo .Nmu th omx.ﬂ% < ti d " M\, kas 3
ow many rows of bricks are there in your assumptions-and answer : .
Assuma \ayt— \Ffu »<+ C)',/LA ,md.MOJ P W3 e “ é
row Was c oc +(n-9) -G 31 3 LY T (u- .K.rv
wai b h-v rﬂuhﬁﬁ, f T by [ «ﬁ -Fo—= ”m.-) . '.mw.ﬁ -OA'FV
SOAE e fu — e e briciks > 65 ep
7. An m:SBm:n sequence is m(w.p 20, 26, ... Which term is 92? /.w: =45
za+(u-)d AT JN 2+L >
oy e —
ﬁ‘n Y 4+Cn-) b I L /Ar» 154 des,
92 = ¥+bm-C 1o =f 5=n |l (g ar
8. a) Foreach m:%Bm:n sequence, a _mﬁmﬁ term _: the sequence is given. Which term is it?
he W - 1)5,8,11,. D) 2,7,12,..,122 . i) Hﬁm 36,.
Bz S Aln ,&w .vwnwvir-&m b
£ * S+33 122 = 245a-5 Hs,&ﬂu H4 8 W +hn)q)
.Nv 2, 2rs Sa- 3 R = 1Y 4lla-q)
.L. a3 vw,. s W.&r YD
x s =" w |\mﬂ“\®.\|\ -
iv) 75, 68, 61,. , v$ “Hn
12 A5 4 (wat) (o - HN —6, o . vi) 28,20,12,...,—164
h J/J\v I.l..au\ *ﬁ’l_vr @o ? -\f@f— J\Wlf h,'. ﬁ!%v
:‘r'.uu.r\ur);.u' . Fi= P e N ~lgy = 2¥—8u +<
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=30 =>F4. . b) Choose one sequence from part a. Write to explain how you _Qm:hw:._m e term.
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9. The Olympic Wintér Games are held every four years. The first Winter o_<39nm were held in
1924. . A
a) wmm_::_sm <<;: H@Np list what should have been the first six s\_:ﬁm_. O_<3U_n <mma

1azy 142 1A "3b 3.,.0 jr_ﬁ

Y L; L,\

b) Intwo of ﬁ:Omm years, the Winter Olympics were cancelled. What <mm2 do you think they
were? mxv_m_: your answer.

%O ; /»Li V&m\:\em\n! Uv
C/vowr\\/ CGP\. ”ﬂ“\

¢) The Winter o_<3_u_nm followed the nw#m_‘: oﬁ Um_:m held every four years until 1992.
" Beginning in 1994, another pattern of holding the Winter Olympics every four years was
‘begun. How many Winter o_<39nm followed the first pattern? :
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d) Why do you think the first _um,ﬁ.mS was broken in 1994? :\/A) AN .m.r
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